%

xe O

> —VEx) e N, ()

M Con\vren @@5‘ pao P

mTa "PC‘x)
9¢cx) < 4
Ax = b

T, B, me  wnvex

A




r\
it
(_‘ A
T L
Food D
SBWULS fD,ﬂ*S’)'\M'ho NS
Co dS




"7(”‘ = r‘r\%’(n'n\ér
W b2 X g—,-:; 9% 1%
Yers
mTo 11"—3
%
™) N > x
- Kkl
P\x-:.b

AW ‘—Duv\’zr) Sn,(_gc-‘or:
LA (b-Asoll, &2

&> -1« F(boAx) < »s



& xglace x= y-2

1229

7

Tesrile -Hxa. orjrol problem as
o c (4-2)

RENE > ICE Y SIS
425 %0



e e

_—

"m3n Q._r_'x. -]—..)- XTQﬁ
3 P
| AK:‘D
X =0
ln Mt cae ‘QC.K): CT‘K—-)—.}i )-(T@K

Constaint <o C: I % szb)xae‘?)

Tn S [ leade | | % | k| |on @M




@&A' condas oA n ‘PCN)

KeC
X So\wsg/_,: —~<fcxye MCCT‘)

&S wHEY (4-%) >0

A/ \16(:‘
n n
DN i I
S5 =N

@bsau-e e B *QGQQXV)
"ZZK Y.)

Frogorny of Yo Hrece : -’nace (ABC)
= Aace (BCH)



Yroon P = sSppl | ;Z
re,@\qce Drxzd & Sdx<d
v Yh 2 R)QJ _—$ b | e i‘r\a,ﬁut:}\:J"

J=(

fh\v' LY ®< |ah SHP -
Obira [ B S s E\Q'l\,(o
R n

Orsere cfx = Dﬁts(c) 'rD?ug (=)
Ea '/
Obs: MYl €1 &>  YY R T

SEBEERE dhe st

-S?e,-c,tag Cone—ob | Deliwy Cele\QMEm} Tha.

A B} -~ ,C Sv)mmﬂ,H: C }- O
B C )

- e D
[%\" S—J >50 & A-BC B >'(O~




P g ) ' L | : ' . e 1 —'i__—? i 'i— =Y i i :—rwﬁ"_?_f__;——:—_—,.

A, = max 3 Hace (X)) lwllgesl'ﬁ

i
T lpntx | “heice (KT)
Y
JR7S
wRLEEE O
i £ I
— min L (T W Nt W,
W, W, * (.L,,, G
SDP  dal W, X O
“h‘ X7 wWa >El




Cav yowenle

TA SYeims

So

off SBF

(IXILL %y




